PREP-E-BOOKS
UGy SITd

(PLANT KINGDOM)

1. &N, TP AATE, Ui P ford HIT A Ui g 82

Clove, a spice, is obtained from which part of the plant?

@ Wwd (b) ddT

Fruit Stem

(c) d8 d) DAD B
Root Flower bud

2. Fud a1 ve 9= Ba g 82

Among the following, which is not a true fruit?

@ 9 (b) SR
Apple Grape

(c) W (d) SMIIERT
Date Plum

3. 3D T ¢ OIS Tg, b

Ginger is a stem and not root because

(2) TTHIHNBITIEC (b)) TIH IS iRSeAS ed
HRATY g

It stores food material It has nodes and internodes

©) u‘s’ﬁ?ﬁ ATEIY  (d) THITORIMPAD HHIE
dedl

It lacks chlorophyll
It grows horizontally in the soil

4. FOEIECH IS i BRAR-

Halophytes grow well in:
(@) Sfagerd (b) BUSgerH
acidic soils cold soils

() picxram gaa gar i @ &REgard

soils containing calcium saline soils
5. gl B g-n & FARE Fifre ik gt & e fo
T Hel BT TN HIPb A1 SR BT g4 Difore-

T (@UTE) g -0 ()
(A) STBTH (1) BT

(B) BT 2) SIS
(TR afdT  (3)wd
(D) I 8) s

Match List-l with List-1l and select the correct answer using
the cods given below the list-

List-1 (Product)  List-1l (Source)

(A) Opium (1) Bark

(B) Heeng (2) Root

(C) Nux-Vomica (3) Fruit

(D) Nux-Vomica (4) Seed

(@ (A (B)(Q)(D)(1)(2)(3)(4) (b) (A)(B)(C)(D)(2)(4)(3)(1)
() (A (B)(Q)(D)(3)(2)(1)(4) (d) (A)(B)(C)(D)(3)(2)(4)(1)

6. TP US I U A T AT P EIaT8?

A tree always has which of the follwoing

(@ S (b) RRAT
Roots Branches
(c) ufEl d) BET
Leaves Shadow

7. Fafafed & @ o=-ar verd ga 3 v foar srar @2

Which of the following substances is obtained from a

tree?
(@) B (b) TRrersia
Asfoetida Bitumen
(c) g d) IRFHIPIS T
Tincal None of the above

8. fFufafea & @ oF-w W gafem 78 & waa
JASRLGEIRS
Which one of the following is NOT correctly matched? Crop

/ Weed
(@) 7§/ HARY AR (b) o /SY3MT
Wheat/- Phalaris minor Paddy/- Bathua
(c) Y3/ Wil (d) W /B
Pea/- Piyazi Berseem/— Kasni
9. U P Tt 8-
Asafoetida is obtained from
(@) TIIEEY () oSiP e

Exudation from the stem Extraction from roots
() Wald Fspyurd (d) ufyal s Ay

Extraction from fruits Extraction from leaves

10. WEHRISET TP Tgoildl Ua=H= g

Mycorrhiza' is a symbiotic association between
(2) XA 3R Ui P He (b) AT 3R HIb P A
Algae and Plants Algae and fungi
() HIBINRNNFAHE  (d) i eRdAdd IR Pad
Fungi and plants &
Blue green algae and fungi

1. Frafafed § & oi=-a1 9@ 9t @ 9597 0w 781 82

Which of the following elements is NOT a micronutrient in

plants?
(a) SMRA (b) TS
Iron Manganese
© IR (d) TRfEm
Copper Magnesium
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12. U& & MY & TP 0 & WRATHI A WRIHUT BT I
N & g 7o A afdfebrr § wFiaR Seardr s

Transfer of pollen grains from the anther to stigma of
another flower of the same plant is called

(a) WP YHA (b) FSTAYgS TRITOT

Autogamy Geitonogamy
() WR-IRFU (d) SWRIFAIDIE TRl

Xenogamy None of the above

13. fafefaa & @ S-ar sireht il & 98 e &2

Which of the following is not derived from wild cabbage?

(@) sl () e

Broccoli Cauliflower

(c) digrat (d) UEH

Kohrabi Spinach

14. TR, WX, TH, A 3R TF & UG dPrsl $ N F,
%3 URrd g A s U e SR B

Pine, fir, spruce, cedar, larch and cypress are the famous
timber-yielding plants of which several also occur widely in
the hilly regions of India. All these belongs to

(a) TmgHy (b) Shgry
Angiospersms Gymnosperms
(c) HHIblergasia d) fEPlemmT

Monocotyledons Dicotyledons

15. 919 &) ufral § faerm qaiftie Aewa &1 3 8-

Most impotant exotic element found in tea leaf.

(a) SHH (b) AU
Caffeine Phenylalanine
) I (d) R
Brucine Theobromine

16. Fufaf@a & & o9 a1 t& ueul & U smaxa®
JeHuIuS 81 82
Which one of the following is not an essential
micronutrient for plants?

(@) dRM by o
Boron Zinc
) wifean (d) IR (@)
Sodium Copper
17. FafaRed R faar Fifse-
1- PR
2- BT (R
3-g-ar
Suda A & S A/ A URU IAE 8/ T2
Consider the following:
1- Camphor
2- Chicory
3-Vanilla

Which of the above is / are plant product(s) ?

(a) PaA13MR2
1and 2 only
(c) Pad13R3

1and 3 only

(b) Hada3
3 only
(d) 1,23R3

1,2and3

18. 9% MY e I=T R W "Uehhiw” & U A 9T

ST 8, 6 Y gl § -

1- PralegSeq A
LI TUS
3-M&T A
s-fafuga ®

3T IR W T e A Y- pe -

The plants which are popularly known as "petro crops" are

rich in:

1- Carbohydrates
2-Hydrocarbons
3- Proteins

4- Lipids

Choose your answer from given codes:

(@ 1,233
1,2and3
) 1,33R4

1,3and 4

(b) 23R4
2and4
(d) wHad1

1only

19. $S Tl SIfadl PleeRI gl 8 | Fai?

Some species of plants are insectivorous. Why?

(a) BUER IR AR wa H
3 & HRUT 35 BRI
TR &1 G SawR
eI fdar qur st d
gy & fog e R AR
FRANE

Their growth in shady and dark

places does not allow them to

undertake sufficient
photosynthesis and thus they
depend on insects for nutrition.

() JAPS e i@

TUT 30 GRT U=TY
P WIMRHA T

They cannot synthesize certain

vitamins themselves and depend

on the insects digested by them

(b) OIS gaT H
I & fog srpfed §
SHifo e ATSgror
TIY0T YT A & fag 9
Fle RANR BN

They are adapted to grow in
nitrogen deficient soils and thus
depend on insects for sufficient
nitrogenous nutrition

(d) dShHfad SHad & ® U H,
9 faera ot 39 fady
AR H BTN 3 & AR
TUS YT IR & o
BB §

They have remained in that
particular stage of evolution as
living fossils, a link between
autotrophs and heterotrophs

20. @leyeh N forT gar # 3ma & 39d & Tl 2-

The soil in which insectivorous plants grow is lack in -

(@) WREAD
Magnesium

(c) -ScoH &t

Nitrogen

(b) FfRTAB
Calcium
(d) AP

Water
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21. TGS $TUHE 3T9d FT1§?

The major component of honey is:

(@) TP (b) FpIS

Glucose Sucrose
(c) HIecrs (d) WS
Maltose Fructose

22. frmfefEd & Q S-91 Uey g T8 82

Which of the following is not a plant hormone?

(@) WECIHIRHT (by Sfifea
Cytokinin Auxin

(c) ey @) foreRfeE
Calcium Gibberellin

23. ?ﬁ@rﬁqwﬁm#@mmﬁwqﬁ

Which of the following plant is not helpful in nitrogen

fixation?
(@) = (b) HX
Gram Pea
(© ¥ (d) o
Bean Paddy

24. THCX & 91 Ifed A FTIATGAHUT & -
It is possible to produce seedless tomato fruits by:
(a) THIR G WA AYARS (b) UeUl R GHS Oid
Tl & SN IEEEEE
applying trace elements in spraying mineral solution on
tomato fields plants
(© YHREEFRBEHIT (o) AAfded i d gordt
spraying hormones on flowers SRDI & &ﬂ;@na

applying fertilizers containing
radioactive elements

25. 9 fHdl 981 3t D19, I& & MUYR F N | MATHR
IRI TG | §eT 1 At g, O I8 g& IR g@ v
TR 14T B, -
When the bark of a tree is removed in circular fashion all
around near its base, it gradually dries up and dies

because?

(@) HAAGAAE MHA  (b) S SHoil H dferet 7§ WIeht
T8 ug e g

Water from soil cannot rise to Roots are starved of energy

aerial parts

(c) & Har-Siarysii ¥ (d) TSI ®! 4T 8] SHledior
SEAECKISIRIE EELSERIG

Tree is infected by soil microbes  Roots do not receive oxygen for

respiration

26. AW 3¢ A H B AETUE A &, AfS -

Sucross content in sugarcane decreases:

(2) UWYTgg P! 3@y H (b) UPA B! 3Efy H uren IR

31 aui BT Y Sy

if high rainfall occurs during the if frost occurs during the period

period of growth of ripening

(c) U P! 3@y H (d) UPHA B 4Gy H IrgHH
T o HH1-gfG Y S Sgd e 8

if there is fluctuation in if there is high temperature at

temperature during the period the time of ripening

of growth of the plant

27. UMY & s gEra: forierR § -

The 'xylem' in plants is responsible for—

(@) SMER-Te & fog (b) 3T TRy Te & ferm
Transportation of food Transportation of amino acid
() Vd-dg b forg (d) 3o 98- & forg

Transportation of water Transportation of oxygen

28. '\‘iﬂ?‘ﬁ(Vascular) N § gt S fHaa Srar %?

Water is conducted in vascular plants by—
(a) TEH Y (b) WP ey
Phloem tissue Parenchyma tissue
() dAfH (d) SIsaq ey

Meristems Xylem tissue

29. US P} 3T BT Ual AT AT HHATS -

The age of tree is determined by calculating :

(@) US DUkl &I TUAET (b) IIP YS (Trunk) TR Il

PP Eaksres)| (Number of
Leaves of tree rings)afle'UﬁTW
Numbers of annual rings on its
trunk.

) USHIRERMABITUAT  (d) [IDISs HTATY
PP PR

branches of tree its length

30. PR TS Y@ AT -

Saffron is dry mixture of :
(2) TRITSRTABI (b) UGS R wSI BT
Leaves and stems Cloves and roots
© BAARATITTRTA  (d) AT IR Bl BT
YT BT Seeds and buds
Flower and seed forming parts

31. FEAA PN A paadisa-

Which of the following has no flowers?

(@) Pcgd (b) N
Jackfruit Gular
(c) Sicbs d) W
Orchid Fern

32. @ 9P gl @ e # A fPae! Sufufa & Fror?

Due to presence of which of the following Red ice occurs?

(a) TS TAAAINAPH BRI (b) TP R AaTel b HROT
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Ared algae A green algae

€ THNAsRaa®d  (d) P BRI
DRUI Iron
A blue green algae

33. g @I AFUATEHOE el BT FRUTE

The characteristic odour of garlic is due to-
(8) TP FARMA H1AMS (b) USRI &1 aRS
A chlorine compound A fluorine compound
(€) TP i o1 amD () THfe® s

A sulphur compound

34. gISS NI FATR?

What is Hydroponics ?
(@) HeIfadHucudads  (b) UGU A HAH T
Soil less culture of plants Grafting of plants
(c) Wil @1 st (d) S IRE0
Study of vegetable

35. ffafad & Qo9 91 3=al & ad & IH=d: fdmae

Acetic acid

Water conservation

F o wa T ed 82
Which of the following is a common adulterant of mustard
oil seeds ?

(@) HSHIS P dIsl () UETFES

Prickly seeds Poppy seeds

) ST (d) SRFdHEIDIS T

None of the above

36. oo P fTUHan AT forg! Uit $ STazgedi gl &

Cumin seeds

98 39 vt P FArem A s € -
Plants absorb most part of water needed by them through
their

(2) oS (b) Fedfsgd

Embryonic zone Growing point

() dHfeRUSE d) EiFa@y

Zone of elongation Root hairs

37. TP & ¥ oipvur ¥ e Profifed & @ 3 @t @
yRfRufaal Jaifire aeayyf 82

Which of the following three conditions are most
important for the germination of a seed?

(@) fogt, art, siieiter (b) U, 3ferd arwm,

Soil, Water, Oxygen SHiTor
Water, Proper temperature,
Oxygen
() SRITITHME, RS, (d) ITIA, SRS, BT
emperature, Oxygen, Light
CACRESEEICIES] T 0 Ligh

Proper temperature, Oxygen,
Carbon dioxide

38. ARG U ST @ :

Leghaemoglobin is found in-

(@) AFTIRHA (b) TIMTIRRA
Human blood Rabbit blood
() gy ga-ufal d d) T FIRA

Legume parent gland Cock blood

39, WH P RAWRTATaTe, 38

The silkworm thrives on-

(@) S H uRrr (b) dgHIuRmEr
Reetha leaves Ficus leaves
c) Smg @ Ukl (d) e bl Ul

Peach leaves Mulberry leaves

40. &dl, Wl TP U Bd & &I § AIUS Teaar Wi
g W1 ST €, & Wi 10099 A gaT 8-

Banana which is considered as an eatable material in the
form of ripened fruit, its per 100 grams contains —

(@) ol DI 416k cal (b) ol DI 316k cal
416 k cal of energy 316 k cal of energy

(c) ol BI216k cal (d) S B 116k cal

216 k cal of energy

4. 9 F faRe, Fufaf@a & @ $9 o I
Sufy gafar & TR & ford wahT Y ot 32
A part from cunin, which of the following prescriped
medicine is used for the treatment of malaria?

116 k cal of energy

(a) SMERR () "
Arteether Gless

(c) wgdifde d) Refar
Lutivit Sineria

42. AT € o1a U Suft B wafear & IR
e wgaa far wmar o1, R $0w siwfyr 3 39
rpfae Iare &1 fawifa frar, a8 8 -

The medicine obtained from the bark of cinchona was used
for the treatment of malaria, the artificial medicine which
replaced this natural product is-

(a) FRMERIET (b) FARIBA
Chloromycetin Chloroquine
(c) Cormsia (d) TRy
Tetracycline Ampicillin

43. R e & g unT d $A- v farar sian 82

From which part of Cinchona plant, Quinine is obtained?

(@) TPBAY (b) DAy
Stem bark Flower
() ®ad (d THd
Fruit Leaf

44. NG HTRE B HH F A0 FIUYH TP T &

Symptoms of sulfur deficiency first appear in plants-
(@) Fadiohmiw (b) g ool w®

On the lower leaves On the lower and middle leaves
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(c) FHADI g™ R (d) JRITAETR
On the middle leaves On the upper leaves
45. UIGU ST -

A plant bud is:
(2) TP o TEt (b) T yofta ot
an embryonic shoot an embryonic leaf
(© Uy (d) THES
an endosperm a seed

46. TEW YUITeht &1 uRageq Fafif@a A ¥ s ar e

Development of natural system is described as-
(a) ST 1 bl (b) oMt 1 farepTt
Function of the system Evolution of system
(c) YU &1 Tqumt fasan d) STFEHAIPIS T
Self sustained process of the
system

47. Wi 9Y T Hifa der g -

Plant like mother plant is found from-

None of the above

(@) Y () TP
Seeds Trunk cut
() T (d) SR A Y Bt F o

Both of them qﬁ
None of the above

48. YA EIATS -
Insulin is found from-
(a) XD b YD Y (b) Selraissiy
Ginger rhizome Dahalia roots
) SEHYUH d) SMIPH<TI

Balsom flower Potato loaf

49. Ui w4l gt feadt &2
Why leaves looks green?
(a) WRIM P YT ST (b) & 0l BT IRIac- Td AW
qUIT T S{aRITHOT
Reflection of green colour and
absorption of all remaining

Portrays all colours

colours
) TRIRISIBIDIE (d) Fad gL guf &7 e
YHTd g Absorption of green color only

No effect of light on leaves

50. Ui grRT e S Aol St A ufvwmor et 2

Radiation energy taken by plants gives the following
results

(@) ST BT UHIR 3Tge (b) FARIGE BT HTRITHRT
Light decomposition of water
() SIS &1 =T

reduction of oxygen

oxidation of chlorophyll
(d) e S3-3HHZS BT
KIICRIC|

oxidation of carbon-dioxide

51. W3R-ISd A YURT g1 9T UTg = UTed gl 8-

Pyrethrin used in mosquito coil is found from-

(@) TSI ud (b) THBCY
A seed plant An insect

(© UHSHad (d) THHaD Y
A virus A fungi

52. fafafea dem gufaaTdi g

Which of the following is not correctly matched?
@) 3D RIESH (b) B /S
Ginger/— Rhizome Kesar/— Seed
() OB/ ABHEBIACH (d) I/d

Opium / — Latex of opium San /- Trunk

53. T faw de iR 31k e HIT & oot H S A1 wat
gafera T 82

In the following pairs of plants and their edible parts,
which pair Is not correctly matched ?

() SIER® /Udg (b) @ /AR gof
Ginger/— Rhizome Onion/- Fleshy Leaves
(©) oMg/ad (d) T /o

Potato/— Roots

54. 9 9R Soll BHdl $ 9H T W §1 379 4 fPu v
o1 Aft vdATa & forg o) o w32
Given below are the names of four energy crops. Which
one of them can be cultivated for ethanol?

Coconut/— Endosperm

(@) Gé,\ ® (b) HIDT

Jatropha Maize

(c) U (d) RorgHt

Pongamia Maize

55. HUR AAEl (AP WEY) §9M & fow WY @1
fFrafafEa # / FT91 YRT ITEhT A arar ST e

In making the saffron spice, which one or tile following
parts of the plant is used?

@ O (b) TGS

Leaf Petal
(c) dRed (d) dfdem (ke
Sepal Stigma

56. WY § TP g&f USITid Uo=- | 3Awd Yat, Fifep
39 wa @H amar v fagw g mr, g ueh
fFafafea 3 PH-a1Ts u?

A tree species in Mauritius failed to reproduce because of
the extinction of a fruit-eating bird. Which one of the
following was that bird ?

(@) il (b) SIe
Dove Dodo

(c) @SR (d) ¥Pps
Condor Skua
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57. T, gz, Wie W, 791, 3RER iR e fhad
fifa ama 82
Sugarcane, sugarbeet, sweetpea, chickpea, pigeonpea and
French bean belong to

(@) feureupd (b) Pruupd
two plant families three plant families
(c) TJUEU A (d) UFUCU pA

four plant families

58. FEATHTITR?

Which of the following is a stem?

five plant families

() XCSH (b) HRP
Turnip Ginger
(c) TSR (d) XPXPb<q
Carrot Sweet potato
59. @M R-

'Cloves' are
(a) dABITS (b) TSHIS
nodules of stem nodules of roots
(c) Tl @) TEEA
leaves dried flowers

60. frufafaa aarel & & 19 I ve Tousis gidt 82

Which one of the following spices is a floral bud ?

(@) ST () @
Cumin Clove

) ot forf (d) gl
Pepper Turmeric

61. %ﬁvﬁmaﬁmwwﬁﬁﬁqﬁr@aﬁﬁﬁq—w

Which of the following is the substantial oil found in

cloves?
(@) Hum (b) g
Menthol Eugenol
c) T d) seifseEs
Methanol Benzanilide

62. TEH~T TG D TIP & -

Lichens are the best indicator of:

() TIUGEH (b) UG F
air pollution water pollution
() HIAUGIIS (@) @FugEE

soil pollution noise pollution

63. WP, &l TP TU ggH R W miifRufa®w srgwa a1
%mmﬁﬁq&m%',wﬁﬁr—l%wﬁﬂd’rmaﬁ

Lichens, which are capable of initiating ecological
succession even on a bare rock, are actually a symbiotic

association of

(a) e 3R ST
algae and bacteria
(c) Siar 3R FHad

bacteria and fungi

(b) DO 3R HID
algae and fungi

(d) HI® ARAY
fungi and mosses

64. FEfIfEa o A B9 91 IR UUUT BT TH 9GP 82

Which of the following is a bio indicator of air pollution?

@
Fern
(c) WHIwie

Money Plant

(b) TTSHA

Lichen

(d) 3REd

Dodder

65. UuUigRa (@Rifpe) A fAufafad # ¥ <19 31 a9 uran

STaT 82

Chlorophyll contains:
(@) e
Iron

(c) TRmH

Magnesium

o

(b) didl
Copper

(d Hifiw

Manganese

66. YT & fAufafaa uri & 9 59 e d aa @1
Sfrpay ufar=rd uraT SiTdT 82

The maximum percentage of oil is found in which one of

the following parts of mint?
(@) s
Root
(© Tl

Leaf

67. RemsnuTEgare

Chilgoza is found from-
(a) CHITHTY
Teksas bakata

(c) sy Raregerd

Cycas revoluta

(b) oIl
Stem

d Td

Flower

(b) USHIFERIY
Cedrus deodara
ORI ESRASRIERIBIES

Pinus gerardiana

68. ?wﬁw,ﬁuﬁﬁﬁmwumﬁr%mﬁm@m

Chilgoza is found from which one of the following varieties

of seeds?

(a) U=t

Pine
(c) MIgHY
Cycus

(b)y 9H
Palm
(d) <EER

Deodar

69. ©H Eﬁ (Turmeric) 3T ne S o ymT A ura %?

We found turmeric from which part of its plant?

(@ o

Stem

(b) g
Root
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() wd (d) d

Fruit Flower

70. fafewr srRiumi g Sgwnfea fvar wan B fr -+ d-u=m

BT U, Sl HRA BT o2 o, Sy Fafoft wwem &
1T eREl STeR P &1 T@AT 7, F9-U€1 gRT ITAR
P gl fparSmar g -
It has been revealed by British research that the plant of
‘curry-leaf', which is indigenous, has a potential of billions
of dollars for drug manufacturing, the disease claimed to
be cured by curry leaves is-

(a) XFEEH (b) AYEEH
Blood pressure Diabetes

(¢ wHaRard (d) TeAATH
Malaria Tuberculosis

71. PRI A S NS 9 &1 IUE T 22

Which of the following fibers of plants is not the product of

stem?
(@ 9 (b) UYcHAd
San Patsan
(c) 9 (d) UM
Jute Cotton

72. TIEGIBISE PEd o

Which is called a hydrophyte?
() THIMRZHIFARSD (b)) UHSINY B
A marine animal An aquatic plant

(©) UH N ITH ) TP ISfeaua

A plant disease A rootless plant

73. WTFEICH U1 WA § o Seud fpar wran @-

Cytotron is a plant which produces-

(@) fIggasst (b) FHOTHRH
Electric energy Artificial weather
) @ ) TEwfEA
Sound Picture on screen

74. IEHH-3< &R YIS W g 5

Litmus - the acid base indicator is obtained from

(@) Siamod (b) TRHAY

bacterium lichen

) faumry (d) SudadH 9 feddt ¥ T8t
Virus none of the above

75. @ i didt gt § Fifr 39w SufRua glar g

Red chilly is spicy because it contains-

@ R (b) PeaRM
Ricin Capsaicin
) TRl d) Fipara
Arecoline Caffeol

MOB. :- 9929952283

WEBSITE :- www.prepebooks.com

76. SBIH FTYTT AJId

The main component of opium is-

(a) WAHHA (b) A
Morphin Heroine
(© Qé,\ O (d) fo-
Atropine Quinine

77. 3P U Y & 5T HIT A UTe T 82

Opium is obtained from which part of the poppy plant?

(@ ®d ()
Flower Leaves
(c) 3IYTH B (d Hd
Unripe Fruits Roots
78. gt F gt A gAfera Fifvre ik gl F o
Y Fe &1 Agar d 9l SR g
- (SeTQ) -1 (1)
A. 3BIH 1. 914
B. BT 2.98
C.¥dR 3.%d
D. $A 4.1
PC:

Match List | with List Il and select the correct answer using
the code given below:
List-1 (Product ) List Il (Source )

A. Opium 1. Bark

B. Hing 2. Root

C. Rubber 3. Fruit

D. Quinine 4. Stem

Code :
(@ 1234 (b) 3241
(c) 4213 (d 2431

79. Fafiaf@a A A #19 argalie o A Wit ueu 3|

Which of the following is a transgenic plant ?

(a) TH R (b) HIHIE

Buck wheat Macaroni wheat

(OIRISERES @ fefewa

Golden rice Triticale

80. DI T Sifad SHdd, I=AT Nef H, &g NuD dIgdh
1P HIAT 2?2

Which of the living tissues acts as the carrier of organic
nutrients in higher plants ?

(@) SmEaH (b) TAEH
Xylem Phloem
) @I (d) TSy
Cortex Epidermis

81. TRPIIH fPad U giar e?

Noscapine is obtained from
(a) I (4Tl & (b) T

Poppy Basil
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(c) TUTha@GHEHT () ITHH

Eucalyptus Ephedra

82. @ gf¥d Aard BT IUGRT T=AwH (ATgereH) 3Myfd /g
fearemare -

Blue green algae is used to supply nitrogen to

(a) TORI® (b) HIHTHI
Bajra Maize
(©) uHDI (d) AES
Paddy Wheat

83. a1 gfvd Aara BT IUTRT TAe (ATSSIoH) 3MYfd ¥
frarSmar g -

Blue green algae is used to supply nitrogen to

(@) TRRI®! (b) HIHTHI
Bajra Maize
(© UHDI (d) TED
Paddy Wheat

84. Fwfif@a ¥ A e arugu Y, a3 AU AT e?

Which one of the following plant fibres is obtained from

stem ?
(@ dUN™ (b) R
Cotton Coir
(© W () Fua
Sun hemp Kapak

85. “Peg BT IATST I gl 3-

"Kuttu" flour is obtained from

(@) <fEiEd (b) HNURRAY
Tapioca Fagopyrum
€ Wemd d) SIEEY™
Plantago Eleusine

86. dIvil & U Ivi Y AGw fafr ureht st 8-

Sensor method of scattering of seeds is found in-

(@) AR (b) URAH
Pea Poppy
() HuNH (d) HIHH
Cotton Maize

87. fm sreiyfy Ianfea aferal & ¥ oA @
FTUARd S %? Which one of the following subsoil
produced vegetables is a modified roo

(a) S (b) RPXD<
Potato Sweet Potato
(c) dsi @ o<
Bonda Elephant Foot Yam
88. WEqd &1 %d &-

The mulberry fruit is:
(a) IRRE (b) EHITH

Sorosis Syconus
(c) 9HR (d) Hc
Samara Nut

89. ?uﬁ%awmﬁﬁmmw-méqmm

Which of the following is used for ripening of fruit?

(@) AWM (o) TRt
Ethephon Isoproton
(c) SMEHmeH d) TCmA
Isoproton Intragene

90. frmferfEd urcul & @ fpaeT dUg sFTaT 18l 82

Stem is not the storage part of which of the following

plants?
(@ TET®T (b) Haxd Pl
Sugarcane Ginger
(c) ST (d) X[dPIHq DI
Potato Sweet Potato

91. YROHE S NI F el & grar 8-

Seeds of Sunflower plant contain

(a) &RIG (fhaArssy) (b) A

Alkaloids Qils
) SBd d e Rd)
Dyes Crystals

92. fufafEd # A o9 a1 F Ui T 82

Which one of the following is a modified stem ?

(@ TSR (b) TPXDh—<
Carrot Sweet Potato
(c) -Rad (d) Mg
Coconut Potato
93. AR, TH-

Potato is a—
(@ Hd (b) d
Root Fruit
(c) o< (d) Xehdq
Tuber Bulb

94. Fufaf@a & | Wil o1 FH-91 W UTT &S HT
TYTIRT qﬁ%’ Which of the following eatable part of
the plant is not the modification of root

(a) TSR (b) ST
Carrot Potato

(c) RIdIay (d) RIDQ
Asparagus Sweet potato

95. A ST TSI AT YN @A TG g1 32

Which of the following part of potato is eatable?

(@ o (b) S
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Trunk Seed
() ©is (d) Wd
Root Fruit

96. I # ¥ &9 & Nef & e F IdRGH & e
K ICRUE %? Which of the following is necessary for the
production of food for a plant?

(@) SiRfeH (b) i
Oxygen Starch
(€) P SRS @) U
Carbon dioxide Protein

97. TIYRI P Urey ARFR AT -

Desert plants are generally

(a) didIR™ (b) HEd
Viviparous Succulent
) M&H () fawmgoif
Herbaceous Heterophyllous

98. Tl WX iftrepir SifeRfior SauTfa Y 2 -

Most of the oxygen on earth is produced from-

(@) T (b) I Y
Grass Algae

) g&id (d) YAHEN Y
Trees Paddy fields

99. T, Wt THHYw U A A §, Fr AT Hga 82

Plants which germinates in salty soil are called-

(@ FRwREe (b) TSIES
Xerophytes Hydrophytes
) BABRES (d) IF<
Halophytes Seculant

100. WUy &a # IH ITd N Head &

Plants germinating in saline water are called-

(a) BEYIBIRSH (b) HieNPREHE
Hydrophytes Mesophytes
(c) TAPEeH (d) IBrEey
Halophytes Thalophytes

101. TN BT HIF-IT URT BA T4 BT SE U= TGV BT 82

Which part of the plants stimulates on becoming flower?

(@ d-l (b) XMAT
Stem Branches
(© T d w9
Leaves Roots

102. YUT (Embryo) foraw fireran %?

Embryo is found in-

(@ Td (b) ol

Flowers Leaves

© d d) Hat

Seeds Buds

103. Sfe T B =P & N &1 Fa Aoy T R-

In terms of life cycle the main organ of plant is-

(@ 99 (b) Ol
Flower Leaf
(c) o (d) dig
Trunk Root

104. a9 gafa @ # ftpar M a1 82

Which vegetation has the maximum amount of protein?

(@ =T (b) HX
Gram Pea

(c) RIRICIE (d)y 3R
Soyabean Arhar

105. A TTSHATgE R -

The tallest living tree is-

(a) Ybiawd (b) Ryapren
Eucalyptus Sequoia
(c) TdaR (d) Yo
Deodar Parnang

106. HIWMUTE-

Pea plant is—
(@) Md (b) TH
Herb Flower
) el (d) SR TPl T
Shrub None of these

107. afe gt wR UT$ oA arelt gwfoat (Y- HTE 8§
K1Y @ 59 9 1 ﬁ"'ﬁ? If all the plants and trees

vanish from the earth, the gas which will decreases is:

(8) HIE SRS (b) FTECH

Carbon dioxide Nitrogen
(c) Sd-arg (d) SHfeioH
Water vapour Oxygen

108. UL W ITH aTA UTGY HEATd &

Plants germinating on rocks are called-

(a) Sifured (b) WAUNREE
Epiphyte Halophytes
(c) "Ehag (d) SelfEe
Xerophyte Lithophytes

109. RITFG g EUfd BT HIE FIT Hgardl a2

The collection of local vegetation is called-

(@) TaRTH (b) WUTER
Herbarium Auditorium
(c) SfeRam (d) e RIH
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Planetarium

110. AP < $Y 3T FETIAIR?

Which of the following is called as fire of forest?
(2) g ader (b) SIPRrST HHENTRIET
Bauhinia variegata Jacaranda Mimosifolia
¢ gfear Ayt (d) cFAUTSH

Beautia Monosperma

Sanitarium

Tectona Grandis

11. FEAIPT-ATTS Bag?

Which of the following is a fruit?

@ oM (b) it
Potato Radish

(c) fHust d) TERE<T
Ladyfinger Sweet potato

112. U # Q w=eid N9 F ygeE -

Identify the following parasite plant-

(@) weyulf (b) SFRAA
Nepenthes Dodders
(c) Iexare d) TRoH™

Bladderwort Sunflower

113.  3ISX® &1 a1 St Frdt & I B, R @Tey |Ugor Har

% dg Pedldl %— The stem of ginger which grows in the
soil and collects food is called-

(@ o< (b) Ud<
Condyle Rhizome
€ YFABR (d) UTH<g
Rhizophore Corm

114. Fofaf@a & ¥ ST AR & o [ & o

IRt %? Which of the following is responsible for the
red colour of tomato?

(@) B-oRICH (b) TIEREAT
B- carotene Anthocyanin

(c) TIEHUH (d) SR A DS !

Lycopene None of the above

115. Pid Fafafed 3 @ e is I ura gar e?

Cork is found from which among the following trees?

(a) Safcom (b) IS
Dalbergia Cedars
) HHY (d) Seifae
Oak Argemone
116. Fufafla & ¥ o9 e Faagds OR St
P TS SHoll A ufvafdd sIara?

Which of the following most efficiently converts solar
energy into chemical energy?

(a) el (b) dMU

Chlorela Tiger

(c) g (d) PIPeT

Earthworm Cuscuta

117. AREH fFad ure gidi 22

Morphine is obtained from-—

@ (b) TR
Flower Stem
(c) Wd (d) o
Fruit Stem

118. AFEUTAS AHGIU B FFud) v & 7 -

The binomial method of vegetative nomination was given

by-
(@) . fafFoagr (b) TR HUSIAGRI
C. Linnaeus A.P.D. Candole
OREIREICEER d) ShA=AGRI
Charles Darwin G. Mendel

119. S-S (SeTgaR)) FITeH Ul SITdT 8

Intraxylary floem is found in-

(@) UbEEH (b) SRl H
Achyranthes Boerhaviya
(© gHTH () feerd
Dracina Strychnos
120. fAufafaa & @ S99 g SuAT WivH SrTdfA®
verdf § Affa svar g?

Which of the following creature prepares its food from
inorganic matters?

(@ dId (b) fawrg
Ant Virus
(c) TSR BTN d) FHEA

Rubber plant Mushroom

121. T8 dl &I 98 YoR ForH o= & 341 o1 a1 g, 98

The type of fruit in which litchi can be placed in

(@ U (b) TwRfEH
drupe hesperidium

() T (d) TPESH
nut one seeded berry

122. fFofafad S S va v A 82

Which of the following fruit is a nut?

(@) -IRTa (b) it
Coconut Lychee

© T (d) T
Betel Nut Groundnut

123. a9 UgHT SO~ NT 41—

The first transgenic plant is-

(@) HX (b) mad
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Pea Rice
(c) dHEIEH (d) U™
Tobacco Cotton

124. frafafEa %@ o arverd agg= & urar wmar 82

Which of the following material is found in garlic?

(@) UfaRm ORRNELE]
Allicin Ripersin
) ForE (d) Toifefae
Nicotin Azadirachtin
125. Al Y g1 & 1y gAfea s o gl & -

3T T e BT U Y FE FW B G-

- -

A Bd 1.

B. §iel 2. =it

C. PI¥ 3.dHT

D. HUS 4. 3USIRI™

Code / PC:

Match List-l with List-1l and select the correct answer using
the code given below-

List-1 List-1l

A. Fruit 1. Ovule

B. Seed 2. Leaf

C. Wood 3. Stem

D.Starch 4. Ovary

Code :
(@ 2143 (by 4132
(c) 2314 (dy 4312

126. @ gafa Fifoe -
a-Uob<q 1. deg-d
b-FH g 2. Rfie<-gz
c-RehPhq 3.3GRP
d-gdPhq 4. 3T
Pc:

Match the following-
a- Rhizome 1. Garlic

b- Tuber 2. Yam
c- Bulb 3. Ginger
d- Corm 4. Potato
Codes :

(@ 1234 (b) 3421

(c) 3412 (d 3124

127. g &1 -1 & gafra S aur gt & i g

¢ %< | el IR G-
Tt gt
A. 3[doid Hd 1. HRdd
B.3AAH T (HUTE @) 2. 3aT (iR
c.Hiftevor ga 3 qEDT
D. YYD 4G
PC:

Match List-l with List-1l and select the correct answer using
the code given below the lists:

List-1 List-I
A. Prop root 1. cuscuta
B. Stilt root 2. tinospora
C. Assimilatory root 3. maize
D. Haustoria 4 banyan
Code / PC:
(@ A-4,B-3,C-2,D-1 (b) A-3,B-4,C-2,D-1
() A-2,B-3,C-1,D-4 (d) A-1,B-2,C-3,D-4
128. safderar snfa fFaffEa & 9 f5y ve S awfRa g2
Dalbergia species is associated with which one of the
following ?
(&) IV Cashew nut (b) PIB! Coffee
(c) dHMTea (d) 2fI=M Rosewood
129. °eUuff (pitcher plant) ¥ Frafe@a ur & & HA-a1
TP Uc # Fuidfyd 3.1?“ %— Which one of the following
part of a pitcher plant is modified into a pitcher—
(&) ™ Column (b) Ul Leaf
(c) &Iﬂqﬂf Diaphanous (d) tI'Uh'_vl Petioles
130. UIe) A grge g A fpaal s A gare
White bud disease in plants due to deficiency of-
(@) TN zinc (b) PIW Copper
(c) SR Boron (d) HIEIS Maganese
131.  gIeX I19a A Fer-HAE o9 Fel I 3mar 2
From where the beta carotene gene come in golden rice?
(@) TSR Carrot (b) SHIST Daffodil
(c) TPl Sweet beet (d) YUUIdl Papaya
132. 3(BIH &1 IfAD A9 T T 8?
What is the botanical name of opium?
(a) WsIferen! SRR (b) TR AT
Emblica officinalis Papaver somniferum
() TS pa g @) e iis
Rauwolfia serpentina Cinchona species
133. W & areRER fAuTeq & srurgq & R ged Suga
YT gRTI-
To study meiosis in plants, the best part would be:
(a) R (b) HARM
Shoot apex Root apex
© WS d) Tof BRI
Anthers Leaf cells
134. fafafeaa s34 w R st

YT (A): BEPeT (ATAA) URSAdl ATgadtelt BT TH
eIV 71

PRUL- R: g8 U Nl &1 gl | o= givor yred
PRaTel
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i far pe A v s g

Consider the following statements:

Assertion (A) : Cuscuta (Amarbel) is an example of parasitic
angiosperm.

Reason (R): It gets its nutrition from the leaves of the host
plant.

Select the correct answer from the codes given below-

(a) ATUTRIFITLIESNR, (b) ATUTRSHI RIS fh=gR
AT I AT B | A e oRe TR B

A and R both are true and R is A and R both are true but R is

the correct explanation of A not the correct explanation of A

© ATAIfFGRIDE (d) ATEEFGRIAAE!

Ais false but R is true Ais true but R is false

135. FafafEa sy w R Fifve-
PYF(A) : FABYA TV G IAT BT TP ITeI0T 2 |
PR (b) : T TP NY P 9IS 3R TP Hab & §id Th
UHR STV g
R RT e AT I IAT:
Consider the following statements:
Assertion (A) Mycorhizal association is an example of
parasitism.
Reason (R): It is an association between root of plant and a
fungus.
Select the correct answer from the codes given below-

(@) ATURSHITEIZ3RR, (b) ATUTREHITEIR bR
AT g AR B | AT T AT 51 §

A and R both are true and R is A and R both are true but R is

the correct explanation of A not the correct explanation of A

© ATGEfHgrIAdR  (d) AR fHgRIS B

Ais true but R is false Ais false but R is true

136. FRufafad urcul W AR Fife-
1- IAfaferT
2-

3-@3%

4- 3R

T ¥ - A UG WR - gRT Yafdd fFg
CICKF

Consider the following plants:

1- Bougainvillea

2- Carnations

3- Cocoa

4- Grapes

Which of these plants are propagated by stem cuttings?
(@) 13MR2 (b) 2,334
land?2 2,3and 4
) 1,234 (d) 1,2,33R4
1,2and 4 1,2,3and 4

137. g@ma@wﬁmmﬁﬁmm

Plants add water to the atmosphere in a process called-
(@) TYT Condensation (b) S[T&YYT Precipitation

(d) TS

Evapotranspiration

(c) &I Runoff

138. SUNIGERE W& H3a &

Elioplasts store

(@) wR (b) WA

Starch Proteins

(c) T4 (d) SawE A 3
Fats Essential amino acids

139. aui B A AP S A 59 AT & HAA BT BRI 3-
Doors made of wood, swell up during rainy season due to-
(a) aTSIIoA (b) 3= ST
Transpiration Imbibition
(€ fRR™RT (d) fagwmEu

Exosmosis Guttation

140. fafafEd w R Fifse:
1-geht
2- gt Y

3-

4-ggdl ga1

ST & | BIH- UTey I Hard 82
Consider the following:

1- Birds

2- Dust blowing

3- Rain

4- Wind blowing

Which of the above spread plant diseases?

(a) PadLsiR3 (b) HIA33MR4
land 3 only 3and 4 only
(c) ®ad1,23MR4 d) 1,2,33R4
1,2 and 4 only 1,2,3and 4

141. fFofafaq &S #1991 sq A fAffa g2

Which of the following cereals is man-made?

(@) JoaIdRTd (b) THE

Secale cereale Pomato

) fRfewra d) SHHFEAIPIE TR
Triticale None of the above

142. WY B WAL 3P0 @ g1 arelt g1fy A 9= aren

3'0175% : The pigment that protects plants from damage by
UV radiation is

(@) SR (b) TR
Xanthophyll Chlorophyll
CREIEES (d) IEHNH™ENT
Carotenoid Phycocyanin

143. e &1 -0 @ GAfera FIR ok gt & R few
¢ He | Hgl I gFe-
k- -
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(@)
(©)

144.

A-THEY 1. TOR
B-pRiFy 2.
C-UHEY 3. oo
D- Higd 4. Sefeman
PC:

Match List-1 with List-1l and select the correct answer using
the code given below the lists:

List-1 List-11
A- Fusiform 1. Carrot
B- Napiform 2. Radish
C- Conical 3. Turnip
D- Tuberous 4. Dahalia
1342 (b) 2314
3421 (d 4123
Tfe felt SURienft yor & qiw SR SITaiT SremT-SrenT
99 R URUS §A § A s A H Fa -

In a bisexual flower, if androecium and gynaecium mature
at different times, the phenomenon is know as

(@) fF@IUEHar (b) WS IURIARTar

Dichogamy (BPRIH
Herkogamy

) fawagm= (d) U GGt

Heterogamy Monogamy
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Ans
Key

Que

Type

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141

142
143
144

Ans
Key

ANSWER KEY

Que

Type
91

92

93

94
95

96
97

98
99

100
101
102
103

104
105
106
107
108
109
110
111

112
113
114
115
116
117
118
119
120

Ans
Key

Que

Type
61

62
63
64
65
66
67

68
69
70
71

72

73

74
75

76
77

78
79

80
81

82

83

84
85

86
87

88
89

90

Ans
Key

Que

Type
31

32
33

34
35

36
37

38
39
40

41

42

43

44

45

46

47

48

49

50
51

52
53
54
55
56
57
58
59
60

Ans

Key

Que

Type

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25

26
27
28
29
30
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